

QUOTE #Q34815-01

Remodel for a Municipal Court Building

Expiration Date: 11/30/2022

Account Manager: McKay Bingham

Bill To: Lake Havasu City 2330 McCulloch Blvd. N Lake Havasu City, Arizona 86403 United States Attn:Jonathan Baskette Ship To: Lake Havasu City 2330 McCulloch Blvd. N Lake Havasu City, Arizona 86403 United States Attn:Jonathan Baskette Notes: Omnia Contract # R192008 Wesco

QTY MANUFACTURER	MODEL	DESCRIPTION		EXTENDED PRICE
3 Axis Communications	0821-001	Axis A9161 Network I/O Relay Module - 6 Configurable I/Os with supervised inputs and a relay. The module reacts on inputs, such as signals from PIR motion detectors or switches, to trigger actions.	\$254.15 USD	\$762.45 USD
6 Axis Communications	02330-001	Axis P3267-LVE - Outdoor Fixed Dome, 5 MP Dome, Lightfinder 2.0, Forensic WDR, and OptimizedIR, Analytics with deep learning, Audio and I/O connectivity, Built-in cybersecurity features	\$806.65 USD	\$4,839.90 USD
2 Axis Communications	5505-871	Axis Mount - Pendant Kit - T94T01D - for P32-VE Series, fits directly to 1.5" threaded pipe	\$50.15 USD	\$100.30 USD
2 Axis Communications	5504-821	Axis Mount - Wall Bracket - T91D61 - (for P33- V/VE Series, Q35-V/VE Series) 1.5" NPS thread for fixed dome pendant kits. Includes mounting plate, pipe seal & conduit hole cover, for , White	\$84.15 USD	\$168.30 USD
9 Axis Communications	02329-001	Axis P3267-LV - Indoor Fixed Dome, 5MP, IR, 3- 8mm P-Iris Lens, Forensic WDR, Lightfinder 2.0, Deep Learning Processing, H.265, Two-way Audio, I/O, SD Slot	\$679.15 USD	\$6,112.35 USD
4 Axis Communications	02327-001	Axis P3265-LV -Fixed Indoor Dome, 1080 HDTV / 2MP, IR, 3.4-8.9mm lens, Vandal, Lightfinder 2.0, Forensic WDR, Zipstream, H.265, Two-way Audio, I/O, DLPU, SD Slot	\$543.15 USD	\$2,172.60 USD
3 Axis Communications	01970-001	Axis P3715-PLVE - Outdoor/Indoor, Multi- Directional Fixed Dome, 2MP (x2), 30 fps, Lightfinder, Forensic WDR, Zipstream, H.264, SD Slot	\$823.65 USD	\$2,470.95 USD
3 Axis Communications	02218-001	Axis P3727-PLE - Outdoor/Indoor, Fixed Multi- sensor Dome, 8MP, 4x1080P 12.5 / 15FPS or 4 x 720P Full Frame, IR, Forensic WDR, Lightfinder, SD Slot	\$1,231.65 USD	\$3,694.95 USD
3 Axis Communications	01500-001	Axis P3719-PLE - Outdoor Multi-Sensor Dome, 15MP, IR, 360° HVOF, 4 Sensor x QHD, Lightfinder, Zipstream, Remote Zoom & Focus, WDR, SD Slot	\$1,444.15 USD	\$4,332.45 USD
3 Axis Communications	01513-001	Axis Mount - Pendant Kit - T94N01D - Pendant Kit for AXIS P3717-PLE / P3719-PLE / P3727-PLE, IP Camera,1.5-inch NPS thread	\$84.15 USD	\$252.45 USD
3 Axis Communications	5507-451	Axis Mount - Ceiling Bracket - T91B50 - Telescopic Ceiling Mount, can expand from 45" up to 84". Compatible with the Axis T91B52 Extension pipes.	\$186.15 USD	\$558.45 USD



QUOTE #Q34815-01

Remodel for a Municipal Court Building

Expiration Date: 11/30/2022

Account Manager: McKay Bingham

2	Axis Communications	01048-004	Axis P3807-PVE - Outdoor Fixed Multisensor Dome, 4 Sensor, 8MP, 30 fps, Forensic WDR, Lightfinder, Stiched Image, Zipstream	\$1,231.65 USD	\$2,463.30 USD
1	Axis Communications	02060-001	Axis P3818-PVE - Outdoor Multisensor Dome, 13MP Multisensor, 3 Sensor Stitched, 180° HFOV, 90° VFOV, Seamless Pan/Tilt/Roll, 30 fps, Forensic WDR, Lightfinder, Two-way Audio, I/O, 3.5mm Input, SD Slot	\$1,648.15 USD	\$1,648.15 USD
3	Axis Communications	0878-004	Axis FA54 - Main Unit, 4 Channel, HDTV 1080p, HDMI port, Forensic WDR, Zipstream, 2 Microphone Inputs & 1 Audio out, I/O port, 2 MicroSD slots	\$407.15 USD	\$1,221.45 USD
8	Axis Communications	01026-001	Axis FA3105-L - Compact Indoor Eyeball Sensor, IR, 103° HFOV, 1080P HDTV, Forensic WDR, Mounting Bracket, 25ft lead	\$135.15 USD	\$1,081.20 USD
1	Axis Communications	01809-001	Axis P1377-LE - Outdoor Fixed Bullet, 5MP, 2.8- 10mm F1.2 P-Iris Lens, Optimized IR, Forensic WDR, CS Mount capable, H.265, Zip Stream, 2 Way-Audio, I/O, SD Slot	\$917.15 USD	\$917.15 USD
1	CommScope	UNP-6-DM-2U-48	Patch Panel, Cat6, 48 Port, 2U, Loaded	\$350.52 USD	\$350.52 USD
1	Advanced Test Equipment Rentals	Rental - Cable Tester Cat6A	FLUK-DSX-5000, LAN Cable Analyzer/Certifier to 1200MHz Cat 5e, 6, 6A, or ISO Class FA.	\$622.00 USD	\$622.00 USD
9	CommScope	CS34P WHT	Wire - Cat6, Unshielded, Solid, Plenum, White, 1000'	\$386.00 USD	\$3,474.00 USD
43	Stone Security, LLC	Hardware - SV Misc	Misc. Hardware - Surveillance, per device	\$20.00 USD	\$860.00 USD
2	Life Safety Power	FPO250- 2C83D8PE8M2/P1 6-A	Power Supply/Charger - 250W, 12/24V, 16 Controlled Outputs, 24 Distributed Class 2 Outputs, E8M2 Enclosure, 36"x 30"x 6.5", Pre-Wire Panduit	\$3,058.00 USD	\$6,116.00 USD
3	Life Safety Power	B100	Access Secondary Power Module - Adds a secondary system voltage from the primary voltage, 4A Max Output, 5V-18V Output (adjustable)	\$57.00 USD	\$171.00 USD
1	Life Safety Power	FPO150- 2C83D8E6M1	Access Power Supply/Charger for Mercury - 12/24VDC, 12/6 Amp, 16 Controlled Outputs (fused), 24 Distributed Outputs (fused), E6M1 Enclosure (30" x 23" x 4.54") Mercury Boards (up to 10 w/ door mount)	\$1,095.00 USD	\$1,095.00 USD
6	Altronix	BT1212	Battery, 12VDC, 12AH - 3.75" x 5.94" x 3.5" (WxLxH)	\$75.00 USD	\$450.00 USD
21	S2 Security	S2-MR-52-S3	S2 Mercury - MR52 Reader Interface Module, 2 Readers, 8 Inputs, 6 Outputs	\$740.00 USD	\$15,540.00 USD
1	S2 Security	S2-LP-1502	S2 Mercury - LP 1502 Intelligent Controller, 16M, 2 Readers, 8 Inputs, 4 Outputs	\$2,042.00 USD	\$2,042.00 USD
1	Lenel Systems International	LNL-1100-S3	Lenel - LNL-1100-S3 - Input Control Module - Series 3 - 12/24VDC, 16 Zone Input Module	\$817.00 USD	\$817.00 USD
39	HID Global	920NTNNEK0000 0	Reader - iClass SE R40, Wall Switch, Contactless, Black, Smart Card Reader with SIO	\$236.00 USD	\$9,204.00 USD



QUOTE #Q34815-01

Remodel for a Municipal Court Building

Expiration Date: 11/30/2022

Account Manager: McKay Bingham

		101 10 11			4000 F0 110 D
35	GRI Telemark Corp.	184-12-W	Door Sensor - 1" Recessed, Steel Door Contact, White	\$7.50 USD	\$262.50 USD
28	Bosch Security Systems	DS160	REX - Exit Motion Sensor w/ Sounder, Door Monitor	\$86.00 USD	\$2,408.00 USD
28	Bosch Security Systems	TP160	REX - Exit Motion Sensor, Trim Plate, Gray	\$2.00 USD	\$56.00 USD
13	United Security Products	HUB-2SA	Panic Device - Surface Mount Panic Switch, Silent Actuating Button, Momentary	\$28.00 USD	\$364.00 USD
3	Stone Security, LLC	Custom Material	HOFFMAN ENCLOSURES INC - A4448RT - Wiring Trough, 4X4X48, NEMA Type 3R, Steel	\$190.31 USD	\$570.93 USD
4.20	Windy City Wire	444380	Wire - 22/4 Plenum Cable, White, 1,000' Roll	\$171.00 USD	\$718.20 USD
9.90	Windy City Wire	446100	Wire - Access, 4 Elem Comp Cable CMP White Jkt - 1,000' Roll	\$1,160.00 USD	\$11,484.00 USD
0.30	CommScope	CS34P WHT	Wire - Cat6, Unshielded, Solid, Plenum, White, 1000'	\$359.00 USD	\$107.70 USD
39	Stone Security, LLC	Hardware - AC Misc	Misc. Hardware - Access Control, per device	\$25.00 USD	\$975.00 USD
1	Stone Security, LLC	Installation, Configuration & Cabling	Labor for Installation & Configuration of System and Cabling	\$88,940.00 USD	\$88,940.00 USD

 Subtotal
 \$179,424.25 USD

 Tax
 \$6,876.80 USD

 Total
 \$186,301.05 USD

Payment Terms: Net 30

Deliverables

Stone to cable, and install new video surveillance system, and access control hardware. Stone to install 38 new cameras, using 30 new network drops and will equal 48 new camera views. Stone to provide necessary milestone licenses to the City. The city will provide necessary storage, and network. Stone will configure all new devices into Milestone. Stone to Cable and install access control on 33 new access controlled doors. Stone to install and configure 13 panic buttons. The 3 in the Courtrooms will temporarily unlock the access controlled doors.

Exclusions

- Excludes conduit and pathways provided and installed by electrical contractor.
- Quote assumes a lift for any requisite lift work will be provided by general contractor.
- Excludes viewing workstations assumes provided by owner.
- Excludes data storage.
- · Excludes providing any portals or programming of the access control system.
- Assumes work will be completed during normal business hours



Remodel for a Municipal Court Building

Expiration Date: 11/30/2022

Account Manager: McKay Bingham

Pricing:

Payment of all applicable state and local taxes are the responsibility of the customer. Please verify that all taxes are correct based on your organization and notify Stone Security if any changes are needed.

Quotes and pricing terms are negotiated between Customer and Stone Security and may be unique to the Customer. Therefore, and except as otherwise provided by law, Customer hereby agrees to keep the pricing arrangement confidential for a period of no less than three (3) years from the date of the signed quote. Customer will not use this confidential Information in furtherance of its business, or the business of anyone else, whether or not in competition with Stone Security.

Credit Card payments are subject to a 3% processing fee.

Return Policy:

Purchases are subject to a 30 day return policy on products which are unopened and in new condition. Returns may be subject to a restocking fee depending on manufacturer restrictions. Custom products and open boxes are nonreturnable.

Support:

Systems not covered by a Support Agreement will be billed time and materials.

Acceptance:

By signing below, you agree to the Pricing, Deliverables, Return Policy and Support of this Quote and are duly authorized to sign on behalf of the Company. Please note that all materials will be invoiced upon quote acceptance or receipt of Purchase Order.

Printed Name

Signature

Date